MEDICAL UNIVERSITY OF WARSAW SURVEY FOR 2017. Scientific Activity RANKING

I FACULTY OF MEDICINE

Units with 3 and more Employment Positions

No.	Code	Name	Sum of points	Number of job positions	Effectiveness (e/f)
а	С	d	е	f	g
1.	1MR	Institute of Emergency Medicine	941.00	4	235.25
2.	1WY	Institute of Medical Genetics	680.18	4.5	151.15
3.	1WW	Institute of Developmental Age Laboratory Diagnostics and Clinical Immunology	704.57	5	140.91
4.	1MG	Institute of Clinical Immunology	649.12	5.92	109.65
5.	1M19	Institute of Immunology	506.42	5.2	97.39
6.	1W44	Department of Paediatrics	874.31	10	87.43
7.	1WR	I Academic and Clinical Department of Cardiology	1 729.68	20.33	85.08
8.	1WX	Institute of Genomic Medicine	279.15	3.5	79.76
9.	1W63	Department of Neonatology and Neonatal Intensive Care	270.50	3.5	77.29
10.	1W21	Department of Immunology, Transplantology and Internal Medicine	524.63	7	74.95

11.	1WB2	Hepatology and Internal Medicine Department	366.75	5	73.35
-----	------	---	--------	---	-------

No.	Code	Name	Sum of points	Number of job positions	Effectiveness (e/f)
а	С	d	е	f	g
12.	1M33	Institute of Social Medicine and Public Health	480.00	6.6	72.73
13.	1W51	I Department of Obstetrics and Gynaecology	1 021.85	14.5	70.47
14.	1WP	Academic and Clinical Department of Haematology, Transplantology and Internal Medicine	689.29	11	62.66
15.	1M24	Institute of Immunopathology, Infectious and Parasitic Diseases	185.84	3	61.95
16.	1WO	Department of Diabetology and Internal Medicine	348.15	6.5	53.56
17.	1M9	Academic Department and Institute of Experimental and Clinical Pharmacology	849.74	16.45	51.66
18.	1WI	Academic and Clinical Department of Paediatrics and Nephrology	361.40	7	51.63
19.	1WB1	Department of General, Transplant and Liver Surgery	731.25	14.25	51.32
20.	1W62	Department of Gynaecological Endocrinology	185.00	4	46.25
21.	1W33	Department of Gastroenterology and Children Nutrition	390.25	9	43.36
22.	1MF	Institute of Medical Informatics and Telemedicine	246.50	6	41.08
23.	1M5	Department of Neurosurgery of the 1st Faculty of Medicine	204.50	5	40.90
24.	1W13	Institute of Nuclear Medicine	223.50	6	37.25

25.	1WN	Academic and Clinical Department Internal Medicine and Endocrinology	293.56	8	36.70
26.	1W12	II Institute of Clinical Radiology	255.23	7	36.46

No.	Code	Name	Sum of points	Number of job positions	Effectiveness (e/f)
а	С	d	е	f	g
27.	1W22	Department of Transplant Medicine, Nephrology and Internal Medicine	243.23	7	34.75
28.	1M15	Academic Department and Institute of Histology and Embryology	640.58	19.2	33.36
29.	1M11	Academic Department and Institute of Pathomorphology	427.75	13	32.90
30.	1WJ	Academic and Clinical Department Psychiatry	434.94	13.5	32.22
31.	1M17	Institute of Transplantology and Central Tissue Bank	144.32	4.5	32.07
32.	1MC2	II Department of Anaesthesiology and Intensive Care	233.50	7.5	31.13
33.	1M14A	Institute General Biology and Parasitology	211.57	7.25	29.18
34.	1M4	Academic and Clinical Department of Dermatology	388.11	13.33	29.12
35.	1M6	Department of Rehabilitation	121.00	4.25	28.47
36.	1W11	I Institute of Clinical Radiology	106.00	4	26.50
37.	1W34	Department of Children Pulmonology and Allergology	287.00	11	26.09
38.	1WK	Academic Department and Institute of Biochemistry	250.16	10	25.02

39.	1MH	Academic Department and Institute of General Medicine	162.00	6.5	24.92
40.	1M20	Academic Department and Institute of Medical Microbiology	305.66	12.75	23.97
41.	1WU	Academic and Clinical Department of Internal Medicine, Pulmonology and Allergology	498.20	21	23.72

No.	Code	Name	Sum of points	Number of job positions	Effectiveness (e/f)
а	С	d	е	f	g
42.	1WG	Academic and Clinical Department of Oncology, Children Haematology, Clinical Transplantology and Paediatrics	186.21	8.5	21.91
43.	1W23	Academic and Clinical Department of General and Transplant Surgery	210.75	10	21.08
44.	1WC	Academic and Clinical Department of Neurology	365.27	17.75	20.58
45.	1WH	Department of Paediatrics and Endocrinology	164.50	8	20.56
46.	1WE	Academic and Clinical Department of Orthopaedics and Motor Organ Traumatology	234.50	11.5	20.39
47.	1MA	Institute of Experimental and Clinical Physiology	332.46	16.65	19.97
48.	1MB	Institute of Forensic Medicine	181.75	9.17	19.82
49.	1WD	Department of Ophthalmology	97.00	5	19.40
50.	1WS	Academic and Clinical Department of Internal Medicine, Hypertension and Angiology	296.33	15.5	19.12
51.	1WF	Academic and Clinical Department of Otolaryngology. Head and Neck Surgery	336.60	19.17	17.56
52.	1M7	Academic and Clinical Department of General, Oncological and Functional Urology	143.50	8.25	17.39

53.	1W61	II Department of Obstetrics and Gynaecology	153.50	9.13	16.81
54.	1M12	Institute of Normal and Clinical Anatomy	272.50	16.5	16.52
55.	1WT	Department of Children Otolaryngology	53.00	4	13.25
56.	1W8	Academic and Clinical Department of General, Gastroenterological and Oncological Surgery	103.50	8	12.94

No.	Code	Name	Sum of points	Number of job positions	Effectiveness (e/f)
а	С	d	е	f	g
57.	1M22	Department Infectious and Tropical Diseases and Hepatology	98.50	8.75	11.26
58.	1MC1	I Department of Anaesthesiology and Intensive Care	101.11	9	11.23
59.	1WA	Department of General and Endocrinological Surgery	104.00	10	10.40
60.	1WZ	Department of Gastroenterology and Internal Medicine	41.25	4	10.31
61.	1WM	Academic and Clinical Department of Nephrology, Dialysis and Internal Medicine	131.50	13	10.12
62.	1W9	Academic and Clinical Department of General, Vascular and Transplant Surgery	103.00	11.5	8.96
63.	1W7	Department of Children Surgery	33.00	5	6.60
64.	1MC3	Department of Children Anaesthesiology and Intensive Care	14.75	4	3.69
		TOTAL	22 204.87	585.40	37.93